DAILY BASIS ASSIGNMENT

Date:25.04.2020 Class: Vi Day: Saturday

Subject : English

MULTIPLE CHOICE QUESTIONS
From the given alternatives, select the most appropriate choice :

1. What do we call the person who sells sweets ?

(a) Fishmonger (b) Florist

(c) Confectioner (d) Greengrocer

2. e is a large building with an extensive floor area, typically for housing aircraft.
(a) Armoury (b) Hangar

(c) Venue (d) Mint

K is singing in the theatre?

(a) Whom (b) Whose

(c) Who (d) what

4. What a fine day it has been-----

(@)? (b) !

(c). (d) None of these

5. May you live long!

(a) Exclamatory Sentence (b) Optative Sentence

(c) Declarative Sentence (d) Interrogative Sentence

Subject: Maths

Tick the most appropriate option:

1. Division by is not defined.
A 1
B. 0



C. 100
D. 5

2. is the identity for multiplication.
A 1
B.
C. 2
D. 10

3.If is added to a number, the sum will remain the same.
A 2
B. 10
C. 1
D. 0

4. 120 million= crore
A. 12
B. 120
C. 1.2
D. 1200

5. The number which when divided by 43 gives 3 as the quotient and 6 as the remainder is

A. 125
B. 135
C. 140
D. 234

Subject: Physics

MULTIPLE CHOICE QUESTION( Select the right option):--

1. Which of the following should you use to measure your waist ?

a) Measuring rod  b) measuring scale c) measuring tape d) any of these
2. 1 century has years.

a) 1000 b)100 c)10 d)10000

3. A car moving in a straight road is an example of motion.

a) rectilinear  b) circular  c)rotational  d) periodic

4. Formation of day and night is an example of _____motion.

a) rectilinear b) circular c) rotational  d) periodic



5. 10 years is equivalent to decade.

a)10 b)l c)100 d)50

Subject: Chemistry

Multiple Choice Question (MCQ)

1. Oiled paper and butter paper are the examples of
(a) Opaque objects
(b) Transparent objects
(c) Translucent objects

(d) Hard objects

2. An example of immiscible liquids is
(a) Oiland water
(b) Lemon juice and water
(c) Milk and water

(d) Honey and water

3. Glass can be cut using
(a) scissors
(b) Diamond
(c) Knife
(d) Paper

4, Materials that can not be compressed easily are called ............ materials.
(@) Soft
(b) Scaly
(c) Rough
(d) Hard

5. Chocolates, biscuits and other items all displayed in a shop in see through containers that are made
of glass or plastic. This explains the property of ............. of glass and plastic. (a) Hardness

(b) Softnesss
(c) Opaqueness
(d) Transparency



Subject: Biology

Multiple choice questions:

1. Theroot used as a spice is
a) red chillies b)peppermint c)turmeric d)coriander

2. Coffee is obtained from the
a) Seed b) leaf c)stem  d)root

3.  Wine, the alcoholic beverage, is extracted from
a) grapes b)apple c)berries d)barley

4. Roots of the following can fix atmospheric nitrogen :
a) Nuts b) Cereals c) Legumes  d) Bittergourd

5.  Two underground stems utilised as food are

a) Potato and radish b) carrot and onion  c) onion and potato d) turnip and beet

Subject: S.S. T

1. Preserved remains of plants and animals, such as bones, skeletons

a) fossils b) coal ¢) humus d) petroleum
2 . A written document of another person’life

a) autobiography b) biography  c) topography d) story
3 . Full form of B.Cis

a) Before common era b)Before Christ c) Before Jesus Christ

d) Before God



4 To dig or scoop out from the soil on earth is called
a) verify b) investigation c) excavate d) enquiry

5. A set of letters in which a language is written

a) script b) textbook c) notes d) notebook

Subject: Computer

Multiple choice questions (select the correct one):-
1. Assembler, Compiler and Interpreter are the example of
a) Computer Language
b) Programing Language
c) Language Translator
d) None of these

2. is an alphabetical abbreviation used as memory aid.
a) Mnemonic
b) Binary
c) HAL

d) None of these

3. Which language is said to be a machine-dependent or hardware-dependent?
a) Assembly Language
b) Machine Language
c¢) Natural Language
d) None of these

4. C, BASIC and Pascal are generation language?
a) 41
b) 31
C) 5th
d) None of these

5. A Language is a system of
a) Communication
b) Controlling robot
c¢) Converter
d) None of these
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